[BETEIXEREFBEERXRE.ZXEFKER)]
JIE 4L g8 JIE 4L &R
XEWH 164iL 109355 EEH 204z 588.54
[ETMEXEARARERERIE]
B4z B/a B4z 55
XEWH 1441 1063.5/4 EFR 1843 568.5 4

KXERE FR28F1H27H (K)~31H (B) Ry —hk (ERfh) . 28208 (1) ~238 (k) RF—(/\1EFEH)

A KXKE  Fp2sFE10818(X)~108 11 B[S EARTRRME  OKkFRF)IA4B(A)~11B(AIIZEFE
12/ 10BT34) CRAE SN =T HF LMUOVH TER I TIXBDBIEZ IZLHELTR2OAEETR-LEL-,

O F A Bl B fE AARSLLE [ ]
555 2, BRI K EMBIE Al 2 I MR
3 BEREA SMNA Ba IBHL BRES BIN&A BE [
A —k 005 10.0/5 1004 301 0045 0055 1008 25
FARRYr— 0.04 10.0/4 1004 13t | -
AE¥— 0.0 1005 1005 244 005 1005 1008 171
fE R 4709m 10.0:= 5708 1441 17058 10.0:= 2708 231
Kk 86.0/% 10.0:8 96.0/ 943z 450 10.0:8 55.0/ 9431
Hyh— 8405 1005 9405 34 2005 1005 3004 5L
TR 15.055 100/ 2504 1441 15.055 1005 2505 843
R—k 3.0:5 10.0/8 1305 28fu 3.0:5 1008 1308 214
Ry — 005 10.0:5 10058 171 005 10.0/5 10058 144
RO 2305 100 3304 1241 00= 100/ 10.055 9L
INL—R—)L 35.0/5 10.0:8 4508 843z 004 10.0:8 1008 144
Kz 0.0:= 100/ 1008 214 0.0= 100/ 1005 171
N RybE =)L 12555 1005 2258 1441 005 100/ 1005 13{u
LAY 4305 10.0:2 53.0/m 54z 004 10.0:8 10.055 943z
o P2 2.0 10.0/8 1205 301 2005 1008 1208 221
DIAN)ITIVY 12085 10.0:8 220g 3441 004 004 00f|  23fu
NURR—)L 00= 1008 1005 244 00= 100/ 1005 15{u
BERE 23.0m 10.0:8 330/ 154 6.0 10.0:8 16.05:5 943z
YINT=R 0.0= 100/ 1005 23(u 0.0= 100/ 1005 144
BBk 16.555 1005 2658 1241 16.555 1005 26,55
B FP Bk 4805 100/ 58.0 /5 3L
iz 005 100/ 1005 161
Bl 3405 10.02 44055 843z ] 10.02 2205
PRI 30m 10.0:8 13.0521  20fi 004 10.0:8 1008, 144
ZE 004 10.0:8 10058 161 004 10.0:8 1008 144
YIhR—IL 4405 100/ 5404 144 0.0= 100/ 1005 13{u
INRSURY 005 1005 1005 201 005 100/ 1005 144
518 4205 10.08 520/ 941 15.05 10.0:8 250@ 114
SATILGE 9.0: 10.0/8 19058 291 5.0 1008 1508 22{u
F{BEl 005 10.0:5 10048 234 005 10.0/5 1005 15{u
FHE=T9ME =) 005 1008 1005 201 00= 100/ 10.055 ofir
W& 0.0= 10.0:= 1005 261 0.0= 10.0:= 10058 194
HX— 16.055 100/ 2604 2841 16.055 100/ 2604 134
7—Fz')— 5405 1005 64.05 2431 36.05 100/ 46.055 141
Z=FE 1955 1441 10.04 1705
#gEE L
HL—HE . 10.05
HELRT 00= 1008 1005 18fu . 100/ 10.05
Ry 3204 10.0:= 4208 oL 2305 10.0:= 33.04 93t
= Vo) 0.0= 1005 1005, 201 0.0= 100/ 10.055 ofir
FSAT7ROY 0.0= 10.0= 1008 11{ 0.0= 10.0= 10.055 i
&t 693.55 400055 10935&  16fu 23855 35005 588.5m | 20fi




OETIHERKEAR AEE (BLILNOHME) ]
g #|No| B2 Fr | #& Rl b5 =] E S =

V| A | RS Fiftik WS I £ L IR () 424. 80

2| Gl Wik | by TRaTE| 0 fEE | FATFAr s IYT =N 1440

3| vom—| ME il i i) U T AT T m iR 1—0 VSEH
1 AT Wt | mv o s risom| Kk deiE SR IE1Z A i PP

5| BxX— | gk |mrvrzvericom|  KEORE W2 F 4 1675986

6lLRY 7| B |rran—wrxsronenen|  SAA HIK fehER 3 4E S VSIEE

Tlvay 7| DB | rvan—~raranssein|  F 0 KEE TREEE 3 4 7 #—/L VSILZL

glwrvr | B | g4 754 | HE B H AR 3 4R FERL VSR

o| kikis | % ETREA TR B R 4R 114,85

10| KPKBER: | ik 100m [ 72 WA e “RET () 547595

H|o=corer| W% | 94kef AT v F | Pl BiE suA7 4y MUeA 145kg

128y R Bl i HL7 =X 0-3 VSR UL

13| iRt D% Tkm# A AbTAT I WA TR S 3 AR P

14 LRy 7| B (7= onskert| (LA ZRME WA 2 4 02 VSERE
2t 15| [ bigise | BiA 400m g Bt R A S AR 17550

1t EAR: 4 4
167 —F=V—| pk Bl P e AARE K2 3 48 0-6 VSEIE
BRE i RIGERR A 44

7 =T | Ak LA fi R BT 3 4 0-1 VSEIW

18| LAY | RE | ] BRE BN HARERESE  [17r—rho wir

19| B btk | D H3k 5000m#H A= JEF e IS AR R 1 3 A 20502538 (k)

0877 W ) A A SRR 14E HERUS VSR

KikBEBFoRATEBL:

AERBEF(HECILRE #))

Yoh—RESFCRBLEREERITS

BIBH—BEF(TRILI5AEE]

ROV TREBFIARTFMHRT
BEBLITAEMRF(BAKRESF)

NR—REEFTOEE B AN AR
F UL ERSRE)




21| Kukwis | % B 100m H T kil #Eh TREERE 1 4F 52fb21
22| KykEEE | kB 100miy Pk X ERIN MR SHEET BR) 54535
23| kykEEE | ik 50mH WA gRA =EET (KR 25854
24| KGR D IS HEpE T8 ] 2 o v 14 64
25|77 M= H [ ] it e
RIATIEE 7T AE (HR)
26 HER Jf Bifzy KRB ZET 7 AE (BR) 1-3  VSIKJ
WA Bifg 7T AE (HR)
27| #EPER | B BifZN ) IR el H 2-0  VSEEA
28| K& D | AREEESER|  dEE TR ] 7 o v 14 66. 050
29| R | B AFY b Houm KRE Frlmdbm 3 4 2-0 VST
g (30| LAV DR [T U —xs A voeketk| (LA HK REEE 244 12- 128 AT VSHE
31| FEEFEH | Rk 400m MA KET HLEE KT 2 47 555009
2|\ Ry B N B BFR T EKR AARRKF 44 HEAT VSHER
it FF ERVATY NIE SRR
B 7—F=V—| L5 EifZN g KHE RVl N RS 5-4  VS|LAL
R PR N7 R 34
e ENAIL it & TN S AR
N J\ N [——— IS \ N .
MBIV R Ak ANBERT | W TR B 3 3385
35| B ki | 2 BA SRS AT F5E 55) 11 [ 8 3 4R 64m53
Elﬂj(iﬁi% %f iﬁ*ﬁ?ﬁjﬁiﬁﬁ% 24E
s N _ HFE W B3 K 1A "
36| Fe Bftde b B 4X100m Y VGl e | sk b BV 1 4 10£507
xR IR/
37| Jkvkii | BB |200mfEA A FL—| kR K ZEELT BR) 1 4359F045
38| AKvkiEi: | VBB |200mf@A A RL—| A JEh ST 14 2 43068580
39| vt rvoFars E‘Z% 94keith 7 Y — k¥ ¥ — 27 I'Z‘IEJ %ﬁ 7 = % l\'f—bfz* 180kg
0| FA7vEE | i 10mAP40W ZH HE o] U2 151. 4
_ . i FEEE BR K% 4 4 5 -
Ml == Rtz BifZ R LR TTC 0-2 VS
w|\Ryy sl Sk PN Kzw N3 & LN AR 3 A 1,742
44 N E I Wik A SaE (BR) I 1
43 =iE %5 = w2l & T=VIVI N I N 94T AT N 31-43  VSFA)I|
wH BE IR ST Hp o ] i
e YR 7AE (1)
4 BiE pase =M Frill IE% 7 AE (BR) 26-28 VS|
L /NS LAE B RERE
TN a1 [ESVAI/ANIE SRS
45|77 —F=V—| i BifZN W AE [ESVAI/ANIE SRS 3-5 VSELE
Per K K [ERVA/ANIE RS
46| KUk | & B 100m & 7% AR Ak el T 5 1 4E 58F005
$2E %’g %ﬁﬁ%lﬂ;ﬁ%:&i
3 N _ S i WSR3 s
47| KkFEE | b A 400m) Vv B % - RUER 36 345515027
ZH BT | FETSIE KN RS 2 4
48| KykEEE | ik ETEGA PRI Y = B RS 2 8 237. 55
49| JKykEEE: | & A 100m & 7% YA M | FRRETSIIE A m 2 57R)05
50| JKykEEE: | & A 50m [ % YA T | FRRETSLIE A E 2 267952
511 JBAlT Bide | CEbEREEmEssE| )0 HEEE |ATFav s T YTy —a W0 3172




52 JEAlT BB | by ravEgl )l K | 9AT AT TV =4 1,110
53| TATVEEE | RRE 50m3 X 40M BERE BLSE | AR T O e vy — 413
54 o h— | T BifZ Bl U3k b 0-1 vs¥is
54 55| SR B [RAEREERE] [ BHE [RE2ITU A=A FRT—TEL 52. TI A0
56| Bl | B LkmfAANTAT WV A BEXR TRBEOR: 2 4 143550823
57| FEEFiE | VB A Fe Bk W RHE A T2 34F 4m95
5827y bkl B BifZS Bl U2k bk 77-98  VSTE]
59| Zef S| T EAERR | 5 TR PEE R 1-3  VSFnEk L
60| L2V 7| MFE [Ty —=zanizokeik| g BPER IBSTRERIEE 2 4 T 4+ —AAT VSEEYL R
eilRr 7l kB 7 LA — Er foth BIR KA 3 4R HEAT  VSikiEE
62| LAY 7| BRI |rrmeeeeasinensnl  gEAR RS B E 74—V VSILH
63l L2y | B |rran~rascneen| (ERE 12T FREE R 3 4F 8-8NAE VSR
NS Wik & SaE (BR) I 1
64| SiH e ATy ®il Bt VIV I N AT RS gy 6
wH BE VST P e [ A
65 Kykpis | 5 FRARTREIA Wl Ak WG 14 296. 70
66| KykEit: | L&A 200mTs ik & W A IESTAE B ) 2 41 2 43158074
(/%Fi; Eﬁ %t@g%ﬁ%*qﬂﬁ#iaﬁ
I3 den N _ SR BB e e 2 1 N
67| KikBit: | V4« B 400m) v %%Eﬂ o ﬂéﬁﬂﬁﬁ%ﬁﬂqﬂ 345 3 43547097
S AR S FR A 14
6 1 AT R E %W&ﬁﬁ)
o3 s e . 3 A A ZHERE T (BR "
68 7k{7}<ﬁﬁ‘j£ ﬁkﬁ‘ 2001‘0'}1/ ﬁ%ﬁ ﬁ‘%%\ E Zliiﬂiﬁj(?lE 1 §7\44$}39
WL I B RSP 44E
69| FE B | & B AR Bk RE B IERATE 5 3 4 5m8 3
70| [ bBgEE | Ak N gk B3 H AR ERKF: 34 3m80
71 A—F Bt | Yo AARAN | WIE OHEE H AR E RF: 245 453 14583
. N K0 N ) A— Ry 2ET
2|RU Y| wP ifzIN HB i ") o 3572
73| KPR | Rl FRAR A PRI fEILERCR S 2 47 203. 00
74 B D% A=t - B BHE |[mEr570 =91 rx7—7 0] iS4 145518074
5| t—V 7| D& |v—F—FoT k| =i R W STIH VPG i 147 28
74 B , o ok Zml | HABORET O
76| B S | Foh e ATV e il L (3 O A A 34 4975622
77| k2 LR | 4B AL AR BEH] Frli R 3 4 11m88
78| R bBgEE | ik 100mH AR SR PR R 1 4E 137673
Il #EY L:rﬁigiﬂif%‘ 32
Vi | e | R e ST RS 1 .
79| KykFEEE | DA | 400mAL V=) T LA L 3 A 4 43165044
YPH BT | BRTSIE AR s E 245
o 95, et s S JEFR & — R s,
81 |80| AKpk@ity | #kH 400mA b V=)V Ry Pk 2 4 345415062
B S ¥ T4 Fh—L
) %k el G IR NS
gi|7=vvr| kB H—7 ATHE CRFER INFORHERR (BR) 0-2 VSK4y
1H 59 B # 2o 8h
82| b bwith | Bk 5000m HH ER A RXFENAC 154347039




